CMR

INSTITUTE OF USN 1 |C|R
TECHNOLOGY

Date:

Solu.

Solu.

Solu.

Solu.

Internal Assesment Test —2
Sub:Mechanical Measuremnts & Metorlogy

Answer any FIVE FULL questions. Good luck!

Question paper with scheme & Solution

What are comparators? Explain sigma comparator with neat sketch.

Definition — 2 Marks
Sigma comparator

sketch — 4 marks
Explanation - 2 Marks
Magnification formulae - 2 Marks

Name and explain briefly the different types of fit as per BIS and
show them by neat schematic diagrams.

Types — 2 marks
Clearance Fit — 3 Marks
Interference Fit — 3 Marks
Transition Fit — 2 marks

Explain LVDT & list the advantages & disadvantages of LVDT.

Sketch — 3 Marks
Cases1,2&3 — 2 Marks each
Output graph —1 Mark

Design a plug and ring gauge to control the production of 90mm shaft
and hole part of H8e9.

Data given a) i= 0.453vD +0.001D.

b) The upper deviations for ‘e’ shaft =-11D0.41

c) The value for standard tolerance grade IT8=25i and IT9=40i

d) 90mm lies in the diameter step of 80mm and 100mm..

D&I - 2 Marks
Hole limits - 2 Marks
Shaft Limits - 2 Marks
Design of plug gauge - 2 Marks
Design of Ring gauge - 2 Marks

Sketch and explain the following comparators:

a) Zeiss Optimeter & b) Solex Comparators

Page 1 of 12

INSTITUTE OF
TECHNOLOGY

Code: 18ME46B
04/08/2022 Duration: 90 mins = Max Marks: 50 = Sem: IV Branch (sections):ME (A)

OBE
Marks

CcO RBT
[10]

COo3 L2
[10]

CO2 L2
[10]

COo3 L1
[10]

CO2 L3
[10]

COo3 L3



Solu. a) Zeiss ultra optimeter

CO2

L2

Sketch - 3 Marks

Explanation - 2 Marks
b) Solex Comparators

Sketch - 3 Marks

Explanation - 2 Marks

6 Illustrate the principle of GO and NOGO gauges. How the Taylor’s [10]
principle is used in designing them?

Solu. Definition Go & No Go — 2 marks each
Drawing Plug and Ring gauge ~ — 2 Marks each
Example - 2 Marks

0

1. What are comparators? Explain sigma comparator with neat sketch.
Solu.
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2. Name and explain briefly the different types of fit as per BIS and show them by neat

schematic diagrams.
Solu. There are three types of fit
i) Clearance Fit
ii) Interference Fit
iii) Transition Fit
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3. Explain LVDT & list the advantages & disadvantages of LVDT.
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4. Design a plug and ring gauge to control the production of 90mm shaft and hole part of H8e9.
Data given a) i= 0.453VD +0.001D.
b) The upper deviations for ‘e’ shaft =-11D0.41
c) The value for standard tolerance grade 1T8=25i and IT9=40i
d) 90mm lies in the diameter step of 80mm and 100mm.
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5. Sketch and explain the following comparators:

a) Zeiss Optimeter & b) Solex Comparators
Solu.
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Figure — Solex pneumatic comparator
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6. Illustrate the principle of GO and NOGO gauges. How the Taylor’s principle is used in
designing them?
Solu.
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